Worksheet #4








June 20, 2013
1) What are hemiacetals and acetals?

Hemiacetals are molecules with the linkage C-O-C-OH and Full acetals have a linkage of 

C-O-C-O-C
2) How are hemiacetals formed?

They are formed from a ketone or an aldehyde plus an alcohol
3) How are cyclic hemiacetals formed?

A sugar molecule (hydroxyl aldehyde or ketone) reacts with itself.
4) Give the products for the following reactions.                                CH2CH3
a. CH3CH2CH2CCH3 + CH3CH2OH             CH3CH2CH2C-CH3
                     O

b.                  
                      + HOCH2CH2CH2CH3                            

c. H-CCH2CH2CH2-OH                                       OH
    O                                                          
5) Make full acetals from the previous hemiacetals above by adding Methanol.
                                
a. CH3CH2CH2C-CH3  


                                       CH3
          O      CH3
b. 
c. 
6) How many different substituents are required on a carbon atom for it to be chiral?
4

7) How many chiral carbons are in the molecule CF3CH2CH2OCH3? NONE
8) State whether each of the following molecules are chiral or achiral.

a. CH3CH-CH2CHCH3 
The highlighted Carbons are chiral and the others are achiral
b.           *                     
Carbon #3 is chiral           
c. CH3CH2CH2CH3  
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